Answers Chapter 7 Checkpoint Quiz1 & 2

Front page, L7.1 —L7.3

1) A=b-h=12.3.1=37.2m’
2) A=tp-h=l.4.00=20%
2 2

3) A:Eb-h; 48:1-10-h; h:@:9.6m
2 2 5

4) A=Db-h; 183=b-3; b=61in

5) Pythag Thm: x? =42 +6%; x=+/52 =213 ~7.2

6) 45—-45-90: \2x =14; X:£:7\/§z9.9

NA
b=+/202-6% =19.078
N 6 0 2
. A=beh = (19.078)(6) ~114.5m
b

Back page, L7.4 - L7.7

1) A:%h(bl +b,) :%(6)(10+11) =63m’

2) A=bh=(8)(L2) =96m’

3)
Kite: A=d,d,
d,: 2:5=10

d, : upper part : /62 —5? =3.316
lower part ; 8% —5? = 6.244
3.316+6.244 =9.56

A=%(10)(9.56) _ 47.8cm?

4) A=%ap; a=8 p=510=50: A=%(8)(50)=200 ft?
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Answers Chapter 7 Checkpoint Quiz1 & 2

5) A:%ap; a=12; p=6-18=108; Az%(lZ)(108):648m2

6)
A=%h(bl+b2); Isos Trap...baseis 3+10+ 3
LeftA:hyp=8,a=3 b=h; h=+8"-3"=7.416

A= % (7.416)(10+16) ~ 96.4in’

7) base =4+10; x =+/8*—4% ~6.9in

8)
x=a+12+b
a=+7"-6%=3.605
b:x/82 —62 =5.292
Xx=3.605+12+5.292 ~ 20.9 ft
marc 120 , 1 L,
9 =—<A =——76"=—736=1271In
) A%ec 360 A}II’C|E 36072- 37T T
marc 270 3
10 ——— WA =" 7122 == 7144 =108 m?
) A§ec 360 ADII’C|€ 36071- 47[ T
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